CLASS-11 JEE - MATHS

RELATION BETWEEN ROOTS AND COEFFICIENTS OF APOLYNOMIAL EQUATION
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op_20,_10, = sum of product of roots taken three at a time
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Product of all roots = ;505 ... ... a, = (D" z—: = (=" %
Ex. If the roots of the cubic equation x3 - 9x2 + a = 0 form an arithmetic progression (A.P.), determine one
of the roots and the value of 'a’.
Sol. Leto - B, o, a + 3 be roots of the given equation x3 - 9x% + a = 0, then
a-B+a+a+p=9
a=3
One of roots of the given equation is 3 substituting x = 3, we get
27-814+a=0
a=>54
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